1. The ratio between two numbers Is 7:11 and ¥
their LCM is 154, The first number Is -
(A) 14 |7
(©) 22 (D) 32

2. Two mobile phones were purchased at the 2.

same price. One was sold at a profit of 30% and
the second was sold at a price which was
T 2500 less than the price at which the first was
sold. If the total profit earned on both the
mobile phones was 5%, what was the cost price
of one mobile phone?

(A) T 8000 (B) ¥ 5000
(C) ¥ 6000 (D) ¥ 4500
3. In the given figure, if AB| |CD, then find x+y. 3.

D

(A) 100° (B) 110°
(C) 60° (D) 125°
s If (x “+ i) = 2, then (x2 + :’;) is equal to -
(A) 2 (B) 4
(C) s (D) 6
5. Rajeev earns 3/2 times in January, April, July

and October than his average earning of ¥ 600
per month in the rest of the months. So his
savings in January, April, July and October goes
to 5/4 times than that of rest of the months, i.e
of T400 per.- month. The average

wﬁmﬂwa‘rwmuﬂtﬂmw
m’tsmﬁmwmﬂmm;wwum
Hramge B fawa Hed & 2500 TEH q¥ e
wnuﬁﬂwﬁmmﬂaf:@f?v@m
B9 err, <Y Q@ AvaTEA BT W AT e aar

e7? iy
(A) 8000 % (B) 5000%
(C) 6000 % (D) 45007%

& d angpfa #, afa AB||CD, T x4y S
A | ’ :

E

B

(B) 110°
(D) 125°

(A) 100°
(C) 60°
af (x+3) =22, (x? + ) o= & —
(A) 2 (B) a4

(©) s (D) 6

wolla SHad), ofldt, Saite iR Iracax 3 a=
g WEFT @ 3fa aa+ eoo T WY #ETT &
3 /2 AT HHATAN & | SHDT a9, e, [l
3R Fcay & gud ad A HEAI &1 ddd 400
T ufar W& &1 5 /4 AT B | IHWBT wfa "E=
e =g = 27

saving
expenditure per month is - : i
(A) T 266.66 (B) T 250 (A) 266.66 % (B) 250 %
. (€)T233.33 ' (D) T433.33 (C) 233.33% (D) 433.33%
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A sum of money in 3 years becomes ¥ 1344 and 6. uep f¥y 3 =l H 1344 T EY Wi 8 afix 7 oul

in 7 years it becomes ¥ 1536. What is the % g 1536 TEY oneh ¥l € Y& <l e R
principal sum where simple rate of interest is oTEt  |eReT  #||rel . 8% wiRe W SR
to be charged? 27 ‘
(A) ¥ 4000 (B) T 1500 (A) 40002 - (B) 1500%
(C) T1200 (D) T 2800 (©) 12002 (D) 2800% "

7. 16 persons reap 1/5"™ field in 6 days. How many 7. 1e=afp efdAl A 1/5a1 WA B 2 #) 8 R
persons (with same efficiency) are required to F 91y AT B BIEA = farg fra= afReat (wam=
reap rest of the field in 8 days? =t @ WTI) WY rATIADAT Brfr?

(A) 27 (B) 54 (A) 27 : (B) 54
(©) a8 (D) 64 (©) a8 (D) 64

8. Find the least number of six digits which is 8. w: aip] B 98 Brd | Vel [WE = g
exactly divisible by 15, 21 and 28 - ST 15, 21 i 28 A gt T B —
(A) 100480 (B) 100270 (A) 100480 (B) 100270
(C) 100380 (D) 100340 (C) 100380 . (D) 100340

8. A train 100 m long passes a bridge at the rate 9. 100 #Hrex w4l UH oA 72 fpaf. /e | WA
of 72 km/h in 25 seconds. The length of the ueg g HT 25 TAHS HF g HIET B b | @l
bridge is - SaE & —

(A) 400 metres (B) 150 metres (A) 400 Hrex (B) 150 e
(C) 300 metres (D) 200 metres (C) 300 Wex (D) 200 #Hrexw
10. If ‘a’ is the area of an equilateral triangle and 10.  ufy uep \HEATE f%l"j;ﬁ T BTFH ‘@’ del Sarg
‘b’ is its height, then the value of r‘ is b’ AT, a1 h_‘l HT HH & —
(A) /3 (B) L (A) /3 (8) _IF
V3 V3
(C) 3 (D) 1 (C) 3 (D) )
3 3
11. In the given figure, O is the centre of the circ le. 1. &) g anpfa #, O g &I ®a 8, LCBD =

Find £CBD. g |

D

(A) 140° (B) 50° (A) 140° (B) 50°
(C) 40° (D) 130° (€) a0° (D) 130°
2 u 37%% of a number is 45, then 87 1 % of the 12, yfe 581 ST &1 3.71;0/0 as & o dem a
number will be - 87%% BITT —
(A) 115 (B) 135 (A) 115 (B) 135
(C) 105 (D) 145 (C) 105

(D) 145
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1

16.

17.

18.

19.

Z 1344 at the

3. |n what time T 1200 will become
rate of 6% annual simple interest?
(A) > 7 years (B) 3 years
() 2 years (D) 31 years
2
4.  |n a triangle ABC, if ZA — £B = 15° and
ZB — ZC = 30°, then LA is equal to
(A) 65° (B) 80°
(C) 75° (D) g5°

5. The average age of 3 children of Arihant Singh
is 12 years and ratio of their ages is 3:4:5. What
is the average age of the youngest and eldest
child, if he had only three children?

(A) 12
(C) 8

(B)
(D)

21
9

The velocity of sound in moist air is more than

in dry air because the moist air has-
(A) less pressure than dry air.

(B) |less density than dry air.

(C) more density than dry air.

(D) more pressure than dry air. -"'.-'E:
Full form of 'SONAR’ is - .

(A) Sound Navigation And Ranging

(B) system of Navigation And Research

(C) System in Navy And in Receivers

(D) sound Navigation in Aircraft Range

Which of the following pairs have the same SI

units?

(A) Momentum and

force

(B) Work and energy

(C) Force and distance (D) Force and pressure

Which statement(s) is /are correct regarding °

Dalton's Atomic Theory?
(1) All matters are made of very tiny particles.
(1) Atoms of different elements have different

masses and chemical g
(111) The relative number C

p_erties.
toms is variable in

1303031601

-
o

1303031601

3031601

0
% \
®

1

fapery o k
#1 ax & 4344 % &1 < M-QHHQ

(A) z: aq ?‘

(€) 7 a4 () ‘5;4‘4

3 ABC 5 O LA = LB = 15 4y
/B— £C=30°% A wTEE E

(A) 65° ®) 80°

(C) 75° (05 25°

frea g @ 32 gt By AR ~"-"'“":, 12 7% ¥
e I AT W AR 345 4 ;
2y o TEH 93 ¥ Y SATERT A

afe SH® Hada NI =y o7

(A) 12 (B) 21

(C) 8 (Dy

o war ¥ =afy &1 T I BT BT T
sfres =T 2 Fuifes == oZan = Een -

(A) IrsF =47 &Y g1 5 B Z90

(B) ‘:';“'Zﬁ Zqr B gAT T B ==

(C) 7= =47 Gl g = =
(D)S:"_J:"a’ii??r?-f‘:——w = s =aT=
R T 997 F9 2 —

(A) g AfaTrs=s o= 6

(B) fawes 3w =fasrss 7= B==

(C) fgv=H =3 =47 T =5 ==y

(D) OTSE AT 9 TORETFs o
f=afafaa 5 9 5 o § 95950 TOSa=. S
ECgER -

(A) 7f 3R o= ®) =3 IR ==

(€) a1 IR W (D) 3= I ===

WE%WW@W‘ﬁ:h &

FHTd e 8 /&7

(1) W geRl IEd PR T} I o @

() A= ol @ g @
MASIRIEES bl h = i-—}!-, = =] &

(1) fF2 e § gonred @ e
ufRadeier &reft &1

(A) daa ()R (1) (B) dam () <

(©) waa (1) 3= () (@) Q). (1 =<




20.
Which instrument is used to measure th
@

intensity of light 20. fapedy ermrer T ETO WIS Waw @Y Saen

source in terms of :;:::::fd ::u::e-f“ﬂknown : WY Hrvw e @ wa B owmR @ g fen
(A) Photometer - kvt i Soaeor a1 wu fyan e 87
' (C) Calipers D) p oy 8 (A) preTiiey (B) yrex
¢ 21-. Which of the followin ynamometer & (©) Bfzud . (D) ErErEATATER
colloidal solution of |j 815 an example 21. Pysfeftaa # @ e =g @ v H wveligd
) quid in solid? farsrn=r o1 SaTETor 87 ;
eese (B) Rubb
(C) Shaving cream O fi er ] (A) Yoy (B) a2
22. Red colour in tomato is d ik 401 0ifn A e i, 0
(A) Capsaicin “;;e ot - 22 TR ¥ e farad @11 BN %7
(C) Xanthophyll (D).chopene 8 v W . 4 :
23.  When a gas is heat s o ot e (l'."l) sl
ed at constant pressure- g 23. o fpd a @ e @@ 9 A Ha s
(A) 1ts temperature-will increase P R
(B) Its pressure will increase :2 (A) gH®T TTaHT 9¢ ST E_.%
. (©) Both temperature and volume will increase (B) g1 Garg d¢ SIgil
(D) Neither pressure nor temperature wilk— (©) o 2R arEaA wrl A ofz B
L 2 (D) 5 <t =ara st = & aE ¥ giE Fen
24. The dimensions of coefficient of friction are - &5 24- oy Tpories @1 famd € — A
(A MLt (B) LT+ ] (A) MLT2 LA A
(©) LT (D) Dimensionless S (©) LT2 (D) ==
25. Which one of the following phenomena cannog 25. freferfag # 9 fa g1 B 961 D Fuads
be attributed to the refraction of light? % forg forsrem =81 oaadl S adhal {4
(A) Rainbow (B) Redshift é (A) SgaTe (B) =ttt fRroe
(C) Mirage (D) Twinkling of stars CT) (& " -
- .
26. |n which part of the eye lies the pigment thag 26. affeg @ fHE WET H avie el 8w ke B
decides the colour of the eyes of a person? 1(")_ aifEt @1 < T fAuiRa e 87
(A) Cornea (B) Iris (A) wifaT ) (B) asRE
_ (C) Choroid (D) vitreous body (C) vRizsS (D) faz= 4
27. spherical forms of rain drops is due to - 27. guf @ 4&1 &1 ATel B BT DR & _
(A) Air pressure (B) Density of water (A) argeTd (B) Siet &1 T
(C) Gravitational force (D) Surface tension (C) THATHYYT a (D) g5 oE
28. Element having maximum electron affinity is - 28. afIeaH SAAggld aygdl drel ad
. (A) Lead (B) Caesium A & (B) HifSra=
(C) Lithium (D) Plutonium (C) ferferas (D) et T
130-C © SR Page 5 of 16




29. Calorific value is in the order of -
(A) Fats > Proteins > Carbohydrates
(B) Proteins > Carbohydrates > Fats
(C) carbohydrates > Fats > Proteins
(D) Fats > Carbohydrates > Proteins

following pair (Disease-

30.  Which of the
Deficiency) is incorrect?
(A) Hypokalemia — Calcium
(B) Marasmus — Protein and Carbohydrate
(©) Pernicious anaemia — Vitamin Bis
(D) pellagra — Vitamin Bs
31. Which district has launched a special health
care campaign 'Aanchal' in June 20227
(A) Ajmer (B) Dungarpur
(C) Jodhpur (D) Karauli
32. Which scheme has been launched by the
Rajasthan Government to provide financial,
nutritional and educational support to TB
patients?
(A) Rajasthan Nikshay Sambal Yojana
(B) Chiranjeevi Health Insurance Scheme
(C) Rajasthan Government Health Scheme
(D) Nishulk Nirogi Rajasthan Yojana
33. Chief Minister Ashok Gehlot inaugurated the
Rajasthan High Performance Sports and
Rehabilitation Centre in Jaipur at -
(A) sawai Mansingh Stadium
(B) Rajasthan University Stadium
(C) Vidyadhar Nagar Stadium E:'
(D) Railway Cricket Ground -
34. Which Ministry of Rajasthan launched Silicosis
Portal 2022 in May 20227
(A) Ministry of Health
(B) Ministry of Environment & Climate change
AC) Ministry of Disaster Management and

Relief

(D) Mimstry ¢ of Soc}al Justice

29.

31.

32.

33.

34.

¥ E—
e i 1 B i e |
(A) gar > HEr > aﬂﬁsf r
(B) T > PIETEIERT > -
(c)waﬁgli??f>m>!”é“ 7 |
(D)W>W;WW—M)1» 4
referfaa ¥ | B SIS Ty g
27
(A) greurdferfar — dfeerad ;
(B) dxraTE — A AR HETBETES
(C) uras JrTeddr — faetfdE @h; . 2
(D) e — faerfas 4, o g
ﬁﬁqmﬁrqﬁzozzﬁwﬁm SN
e I erEe g% fear 27
(A) 3SR (B) €7vg¥
(C) Serge (D) FHIET
ISR G gRT erndn Affgl &1 fashs
uryor 3 e gergdar et $39 & fAg -
W AISTAT I BT TS BY

SR M YN I 75 0

(A) =TSR e Hae arA=T

(B) RS waren €97 Irer=r

(C) ISR ARhIR gRed arA=T

(D) fArggeer AR e o=
Wwﬁﬁ%ﬂﬁﬁﬁwn: R =S
WEHE el te REfafrees dew o
IqHreq fepar —

(A) ward arfde <feas ¥

(B) o gfafRiS wefeaw

(©) framr TR w@fegy %

(D) ¥1d e urds ¥

%2022 # OE @ fbg ¥ .

%ﬁmﬁﬁzozzww%m?
(A) ETem Hq3reryg

(®) gataer iR Srerary aRads ware
(©) ST st e et TR
(D)mmqﬁmmm




In which city was the Medifest 20
] organized? i

(A) Kota

exhibition

(B) Jaj
pur

©) B i

o (D) Jaisalmer

[’®  \n which district 'Miyan ka Bada'
station has been renamed as M a' railway
Halt? ahesh Nagar
] (A) Barmer (B) Bikaner
(C) Jodhpur (D) Jai
| 37.  What is the place of Udai Jal?ur
S e e releasd;:l_l‘-)ur |n‘the ranking of
(A) First e Bm N SRt
2 (C) Third ibica.
I} (D) Fourth
H 38. Who is the Industries Minister in Rajasthan at
present?
(A) Shakuntala Rawat (B) Govind Ram
b Meghwal
E (C) Bhajan Lal Jatav (D) vishvendra Singh
39. At which place in Rajasthan 'Suraksha Manthan
2022' was organized on the aspects of border
v and coastal security?
" (A) Baran (B) Jodhpur
(C) Sri Ganganagar (D) Bikaner
i . Who was awarded by R.B.I for writing books
;‘.. originally in Hindi on economics/ banking/
k" financial issues?
ﬁ. (A) Professor Renu Jatana and Dr. Sagar
: Saawariya
(B) Shrishti Deshmukh and Shruti Sihag
(C) Manju Kumari and Dr. Radhika Bajaj
ajeev Saini

(D) Rajendra Chahar and Dr. R

Which of the following is NOT
Municipal Body?

(A) Public health and sanit
(B.) Fire fighting

'(é) Poverty alleviation

ation

(D) Excise control

%

a function of the

35. NFfewwe 2022 e w1 AT fFw www #

o Tar?
(A) BT (B) SrT9R
(©) g (D) SR

fra e & Rea @ai &1 arsr IAT I
1 =P wRY AR gfee ®¥ fRar war 27

(A) aTSHY (B) diepTiR
(C) TiErgR (D) STaYx

37. adrer 2022 ¥, wrd 100 wE fEA &Y BT H
Sauyr B WA |r wrE e 7

36.

(A) ggell (B) gH=1
(C) =T (D) =T :

38. gdury § worerd ¥ SR WER @E
27

(B) Miftig I\ Heare
(D) fazds e

(A) ereReT Xrad
(C) \oTa dfdl Sifed

39. groreei # fbd @I uR AT AR AT gRET
& uEgel U HRE Herd 2022° BT IAISA
fepa Tar?

(A) AT (B) SiwrgR
(C) =T TT=HITR (D) §rpTR
40. g &1 ans. BT spivies / dfH /faha e

gr gl w9 A 2= A frard e & fore e
gpd fapar A
(A) UTHHEI I AR At

T AR 3

(B) gfte Sz 3R

AR

(C) o] HATA 3R STyt TSI

(D) Iroi—= "R 3R 31
a1. PpafafRaa § Q ST B TR
81 &7
(A) SRR Ud A%lg
(B) 3rfF=erHA
(C) 19T Harn <
(D) amash™ HaHA

o o 7 page 7 of 16
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42. 1o whom the ward Panch, up-sarpanch
address his/her resignation?
(A) Sarpanch
(B) Block Development Officer
(C) Pradhe@i'anchayat Samiti
(D) village $@velopment Officer
43. Where is gasthan police Academy’ situated

in Rajasth

(A) Jodhpﬁ (B) Jaipur
(C) Ajmer ~— (D) Kota

44. |5 how many phases was the integration of
Rajasthan done?
(A) Four & (B) Five
(©) six (D) seven

b
5. The Presid@’s rule was implemented second

time in Raj han state in —

(A) 1967 o (B) 1977
(C) 1980 ~ (D) 1992

46.  which of the following Chhatri is not located in
Jodhpur?

(A) Jaswar@wada (B) Mama Bhanja ki
-~ Chhatri
(C) 8 Piflarghatri (D) mandore ki Chhatri
47. The festivagf Gangaur is celebrated on which
date? o

bl
(A) Falgun Shukla (B) Posha Shukla

Tritiya < Tritiya
(C) Magha%ukla (D) Chaitra Shukla
Tritiya <— Tritiya

48.  ‘Munchalad?ehavir’ Temple is located at -

(A) Menalg (B) Ghanerao
(©) Nakorasf_) (D) Kiradu E&
49.  ‘Ranmal Chhand’ was composed by - -
(A) Narpati Nath
(C) Shreedhar

(B) Hemraj
(?F) Dalpat

50. Dpadhimati Mata fair is held in which of the

42.

43.

44.

45.

46.

a47.

48.

49.

50.

a7 ;
(A) SheTgR (B) STadR

(C) 31STHR ) Al . -
'ﬂ‘WWWWﬂﬁ@aﬂ?
(A) FR (B) df=

(©) w: (D) ATt

IroReE Wod A g 9k Ay QTEA ]
fopam arar a1 —

(A) 1967 # (B) 1977 #

(C) 1980 # (D) 1992 #H

Siegr # st # @ e waa Rea A&l
2?

(A) STHad oISt

(C) 8 wii @51 wa<l

TFEIR BT JER 5
o
(A) BTATT gaet geiiaT (B) Uiy graet geinam

(D) 3= Yot gerran

(B) H1HT MTSAT 1 =l
(D) FosIR &1 B

fafey @1 wATIT ATAT

(C) wHIEr FebeA Geira

‘Hod AsdR’ Aftar Reg & —

(A) =TS (B) gioRTa
(C) AThTST (D) fapxrg
ROHEA BS B AT fHas a7

(A) =Rufa rer (B) 29Tt
(©) sierR (D) Toruq

AN =TT B Ve Frs # @ few e o
srafora faar sar 22

() G

(C) Harg wmigR




1.

2' Match the folloWlng—
a) Ch ‘
fb) & arj Dares (1) Kalbelia
) Ranbaja Dance (2) Mev
i (c) Shankaria Dance (3) g
d . ujjar
1§ (d) Chakri Dance (4) Kanjar
E (C:)oose the correct code —
i o (2)=(1), (b)~(2), (c)—(3), (d)—(4)
i ) (a)—(2), (b)—(3), (c)—
£ s  (e)(1), (d)—(4)
é = (a)—(4), (b)—(2), (c)—(1), (d)—(3)
., 2 @-6) (b)12), ()-1), (d)a)
" > Where is NﬁthuRam Poddar’s Haveli located in
Shekhawati?
(A) Nawalgarh (B) Mandawa
(€) Mahansar (D) Bissau
§ 54 Who was the ruler of Sirohi at the time of the
Battle of Dattani?
(A) Rao Karan Singh (B) Amar Singh Rathod
(C) Maharao Surtan (D) Mmaharav Vijay
] Singh
¥ 55. Which of the following pairs (Peasant
Movement-Leaders) is not correctly matched?
(A) Bijolia — Vijay Singh Pathik
(B) Bundi — Nayanuram Sharma
(C) Meo — Yaseen Khan
(D) Begun — Magharam Vaid
56. The place Kolu village is associated with which
folk deity?
(A) pabuji (B) Ram(h*njii
(C) Devnarayana ji (D) Tallinath ji
57. Who defeated the giant army of British and

In which of the followin
Sufi Saint Mitthe Shah
(A) Kumbhalgarh
(C) Gagron :

slituated? .
®) chittorgarh
(D) N‘hal‘snrh

Jodhpur state in the Revolution of 18577
(A) Thakur Kushal (B) Tatya Tope
Singh

(C) Jayadayal (D) Rawat Keshari

Singh

Where was the ‘Desh Hiteshini

established for the purpose of social reform?
- (A) udaipur (B) Jaipur
(©) Ajmér (D) Shahpura

tomb of

Sabha’

53.

54.

55.

56
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(A ey

Ry

(© wmrdw
e Pfg -
(a) w® e (1) eTerafeTaT
(b) NUTETHT ¥ (2) i
(c) wiewfRar e (3)

(d) o e (4) SN
ol wme gy - e
(A) (a)~(1), (b)=(2); (€)—(3), (d)—(4)
(B) (a)—(2), (b)=(3), (€)—(1), (d)—(4)
(©) (a)=(4), (b)—(2), (e)~(1), ()=(3)
(D) (a)~(3), (b)=(2), (c)~(1), (d)—(4)

#? _
(A) FaeTTg (B) wu=Tar
(C) wETER (D) fra

F
o @ gw @ waa R E‘r‘:‘l‘wﬁ'{z{%

T — 43

(A) v BT RiE ® o Ris WSS §
(©) werm weawr (D) HEwE Rt % '
frefarfaa § & PEr g (FIH SMicierT ——
“ren) gafera wE 87

(A) snfern—fasra Rig afdre "é

(B) §&—=ra=Rre 2t : EE D

(C) Fg—ari Wi o

(D) Jij—FERT™ A< g,?)

ploi e fea o aar A e a° ‘c;;
i

(A) trgi (B) T <h

(C) aa=Rmaul i) (D) TFeeAT=TT SiT

1857 @ pifa #, T EG |

SRR o0 D

T AT D fpas ynifora B en? )
(A) arepR el faE A (B) dredr € A t::)
(cor
(C) FHagaTaed = (D) v1ad BT e 3 f"f":))
(o’
HHTST R @ Swed 9 99 fBdafEvn [ P
T TU 1 'hf:ﬁ G ’”L;' ofy?
(A) SEAYR (B) SIYR
(C) 3R (D) TEYRI

TSR . AL A



&0

62.

63.

Who was the Maharao of Kota at the time of

WICT B HERTT

treaty with the British in December, 18177 ;
(A) Ummed Singh | (B) Kishor Singh ‘2; . ) : (D) waf¥E 1
(C) Ra (D) Ram Singh 1l (©) xrf¥E
Ram Singh | am Si E. i Yoy Trou A 1857 B e @ A B ey
For the help of which of the following states ?‘g P . P
Karauli sent its army during 1857 revolt? @1 HETIT (8) et
(A) Mewar (B) Kota o~ (D) S
(C) Jaipur (D) jodhpur (C) 5Ta9R S il W
OniEn ‘ = e g 1
Which one of the following statements is not 61 f=rforfaa 3 & Sl '
o =
true about Berach river? A [l TE 87 fra Y
(A) 1t originates from Gogunda hills (A) 18 T[T uerfal @ (‘Tf i—az .
e Tt &) aff| & IfaTd 3mal g
(B) 1t belongs to Ganga river basin (B) 71w w7 dY 3 : = e e =
(C) 7Y aflk 3RE P ABAD Afeat &
(C) Gambhiri and Orai are its tributaries (D) ug senagwr (Hrerarsn) + Byepe a9 N
(D) 1t meets Banas near Gulabpura (Bhilwara) a3 2
Badi Teej festival is celebrated in Rajasthan 62 s B 4 SIS O I are H-114 L
on -
(A) Bhadrapada Shukla Tritiya (A) oTa §
(B) Bhadra Krishna Tritiya (B)
{C) Chaitra Krishna Tritiya (C) bt
(D) shravan Krishna Tritiya (D) .
Match the following - 63 S 3
List — 1 List —1I ¥ i HE —n
(a) Wool Mandi (1) Kishangarh a) 1) fFsrrre
(b) Marble Mandi (2) Bikaner (b 3 2) dAYHT
(c) Kanpur of Rajasthan (3) Bhilwara c) ¥ PTAYs Naa
(d) Garment City (4) Kota d) I3 f 4 Bl
Code - B
(A) a-2, b-1, c-4,d-3 (B) a-1,b-2,c-3,d-4 (A) 3-2 b-1. c-4 d-3 a1 03,08 d-a
(C) 24, b-3, c-2, d-1 (D) a-2, b-1, c-3, d-4 (C) a-4,. b-3 ¢c-2. d-3 (D) 4.0 | l‘ ‘o
3 4 ) . ¥ .
Where is the Som Kagdar Irrigation Project 64. JiuTwg 3 bt
located in Rajasthan? Rore # Y PR :
(A) Sirohi (B) udaipur (A) faors L —
(C) Kota (D) Bundi (C) 4 (D) N ...[ ¥
Valaya ornament is worn in - 65. Tk INNYT g »('{I‘
{ 1 Yt oI @
W Neck (B, “ead (A) Mol N (B) 1\” T
‘q Hands (D) Waist (C) g1 A ©) X |\\
i PHHY
Dharma stupa in Churu is also known as — 66. v N ud Wy ) s
{A) Nihaal Tower . P T D 9 W9 N W e oipar B
o ; \ T8I @Tgv
8) Clock tower at Birla temple (B) freen s .
7 e ) e wRY @1 Hengy
& (C) fasra wensy

(D) &re1 weray




The pictures mad
to -

(A) the life of Lo
(B) the life of Lo
(©) the life of Panday,
(D) the life of Lorg Sh?s
8. Katriyasar is the chie “
g (A) Vishnoi sect

e in P
ichwajr Artefacts . ¢
efer
rd Krishng
rd Ram

f seat of -

(B) Jasnathi
& athi sect
) Dadu Panth (®) Laldas; sect

Which of the f i
ollowin ;
o iation to "Kachchl'%i SGtztedments is/are true
" y odi” d ?
1.1Itis n'.10-stiy Performed by womzr:‘ce.
2. It 9r|g|nated in the Shekhawati. regi
Rajasthan. el
3. It is mostly performed
at th i
S € occasion of
4. It started during the reign of Shahjahan.
Choose the correct code - !

(A) 1 and?2 (B) 2 and 3
(C) 3and 4 (D) 1 and 4
Where was the Bhawani Natyashala
established in 1921 AD?
(A) Jaipur (B) Ajmer
(C) Jhalawar (D) Jaisalmer
1. Koshvardhan was the original name of -
(A) Ramgarh (B) Shergarh
(C) Bhangarh (D) Mmangarh
In which Battle did Maharana Sanga defeat

Babur’s army?
(A) Battle of Bayana
(C) Battle of panipat

(B) Battle of Khanwa
| (D) Battle of Ghaghara

: “Jijay
b e ment about J
s, - llowing staten
. - Read the fo
stambha’ — )
2 " i story tower.
(i) Itis a nine itect

its main arcl

i ndan was
(ii) Ma =

Choose the correct €

(A) Only (i) is true

(B) Only (i) is true
. {C) Neither (i) nor (
) Both the statemen

i) is true
ts are true

10

sy ?‘ﬁ"ﬁ' e ¥ @ o gy Y
(A) wirarsy pwr @ Sfras &
(B) warars X1 @ ofas ¥
(C) uisa} & oA =
(D) aprars g @ fes &
88. waRarar g T ¥ -
(A) fagig wsrara @ (B) STaeil e WY
(C) a1g. ger a5V (D) aﬂj-am'ﬁ'i Ridiahli 8
69. opehy T ed @ wed A BITE/ BN
U e 87 |
1. wg gep AiRen weT g B
2. T ISR B SETaTey &v ¥ T BAT|
3.ﬁm:m$mww%mm%\
4.%3@%‘5%3@%”&%5,&%\
e @e =g —
(A) 132 (B) 233
(C) 334 (D) 13k 4
70. 1921 %. ﬁwﬁmzﬁﬁwﬁaaﬁﬂé
N? ‘
(A) STIYR (B) ISTAR
(C) =TeITars (D) AETIR
71. fre § et WS AT @veraeE &A1Y
(A) IHTS (B) IRTTE
(C) IS (D) #THTTE
72. wereron AR S A gE W ArER @) A D
eTdr?
(A) 9T @51 ASTE (B) w@r=rat &1 aSTs
(C) TTE -1 @ ST (D) =TERT @Y ST
73. facta wT @ ar # aEhfaRaa d2aAT @l
:J‘I*,t
() @ <A AT w8 _
(ii) HUSH SADT & AT DT 217 |
el me giHae —
(A) Haa (i) 98 B

(B) @adt (i) 98l &
(C) =1 ar (i) A1 1 (i) ¥
(D) €191 HUH HEl &

=
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74.

75.

76.

78.

79.

Read the following statements —
(i) Viratnagar previously known as

town in Jodhpur. _
(ii) Bairath was a part of Mauryan Empire.

Choose the correct code -
(A) Only (i) is true

(B) Only (ii) is true

(C) Neither (i) nor (ii) is true

(D) Both the statements are true
Which one of the following _
contemporary to Alauddin Khilji - Place) is not

matched correctly?
(A) Ranthambhore — Hammir Dev Chouhan

(B) chittorgarh — Rawal Ratna Singh

(C) siwana — Shital Dev

(D) Jodhpur — Veeram Dev

Who laid the foundation of Chittorgarh fort?
(A) chitrangada Mori (B) Jayant Chauhan
(C) sawai Jai Singh (D) Maharaja Rai Singh

The first conservation reserve for Bear in

Bairath is @

(Ruler

Rajasthan is -
(A) Talchapar
(C) Bandh Baretha
Which one of the following (Cement industry-
Place) is not correctly matched?
(A) J.K. Cement — Nimbahera
(B) Mangalam Cement — Morak
(C) Shree Cement — Beawar
(D) Birla White Cement — Gotan
Indoni folk song is sung -
(A) by wife at husband’s death
(B) during marriage ceremony :
(C) by the ladies while going to fetch water
-from the well :

(B) Kanak Sagar
(D) sundha Mata

(D) by females at birth of a son

74.

1303031601

130%931601

N

@

13030%;601 1303031601

80.

11

(B) Baer (i) FE E &
© = @ (7 A () <
(D) <= @ N -

J (EromedE fEash &

frefarfEa A .
i — <o) At TE &7

_ gufik @9 "rerE
(A) ToTeriIY -

(B) fRreirsTe — ad
(©) fRraron — ¥ae &9

(D) wirerge — A <A \

(A) areTsTIR (B) &9 HNIR
(D) gur Hrar

(C) der sxaT

frrafaRaa (MHve SeT——=am=) 4 &1 w1
gafera =81 27

(A) 9. & Ame — fAEEer

(B) ety A< — AR®

(C) =11 ¥\~ — =rav

(© wfeemell gRT By @ g a9 o wE

O 3 D 5= b wwa e o

T T B et Rurd 2020.21 FTER

YIS 1 et @ 81w 2

(A) 32,737 of s+,
35 7 £ .




B5.

In terms of water av
basins of Rajasthan 3

ailable the to

Weip P two river

(A) Chambal and Mahi (B) pmapi

(C) Chambal and Banas (D) g o

Which (Ge T

Ographical areag and d i

correctly matched? et o

(;) Kubad belt — Ajmer and Nagaur

(B) Chhappan’s plain — Banswara and
Pratapgarh

C

(D) Bhorat Plateau — Chittorgarh and Bhilwara

(D) Uparmal Plateau — Bhilwara and —
Chittorgarh %

In which of the following districts the sul{‘:)

humid climate is found in Rajasthan? o

(A) Jaipur, Ajmer, Alwar, Tonk 23

(B) Udaipur,  Rajsamand,  Pratapgarh&?

Chittorgarh
(C) Kota, Baran, Bundi, Jhalawar
(D) Ganganagar, Hanumangarh, Sikar, Churu

pm—

i N r L
Which Fort amongst the following comes in thah

category of Desert Fort?

(A) Junagarh (B) Mehrangarh

(C) Gagron (D) Nahargarh

what was 'Daamani' in Marwar?

(A) A type of Jewellery (B) A type of Odhani

(C) A revenue tax (D) A Government

policy

The major Beryllium producing districts in

Rajasthan are -
(A) Jodhpur and Nagaur

. (B) Jaipur and Udaipur

if‘-(C) Dausa and Sawai Madhopur

i
3

. (D) Baran and Karauli | ?\
Kaka Ji ki Bawri located in Rajasthan =

(B) Sikar

Where is

(A) Udaipur _
(D) Bundi

(C) Dausa

)
>

> f" 3

—
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81.

82.

83.

84.

85.

86.

87.

STl SUSTErAT @ SR U ST @ Teaes
&Y Afgat @ Ak & —

(A) =rasr aii ATE (B) |1&Y &Y &=y

(C) =reger 3R a9TH (D) g1 31‘!’\' il
Prerffag § § @raar e & ik )
Y gafera =& 87

{A) TEe ged — AeTR AR AT

(B) wu BT fa — araarst AR JarITe
(C) wRTe W1 TSR — faieTe R fiearst
(D)Waﬂm—wﬂmaﬁ?ﬁm‘t@m

refarferg § @ e @ e el # su
g STetary urdl SR 87

(A) STaYR, TSR, Teiax, ©fd

(B) Sguyy, wrawHs, warae, RedesTe

(C) HreT, ary, 91, SIears

(D) TR, BHIAIS, B, TH

frfarfaa # & @ @ feen Toeerena fha
&) Ao # arar 27 )

(B) ¥EITTTS

(A) S[ATTE
(C) TR (D) ATETTE
Hars W CgTHON 9T o

(A) U THIR BT (B) afigl T Th HHIR

T

(©) us o 4 (D) T FREHWI ATSTAT
RIT W dIRTeAd UM Sdrad ot

(A) FEgR AR AT

(B) IR

(C) qT1 3TR AT TTeTa

(D) g=T 3R EHIA

HTepT ol &1 FTaSt e ¥ wel Rera #7

(A) S<ATR (B) ¥{rHx

(C) <1 (D) §&




88.

89.

90.

91.

92.

93.

94.

Which of the following statements is/are

2 0
correct with regard to ratio of women per 100¢
" = ?
males as per 2011 census in Rajasthan: 5
e

(i) General gender ratio in all districts remain

lower to 1000.
(ii) General gender ratio in Rajasthan was lower

to national average.
(iii) General gender ratio in urban areas of all
districts (except Dholpur) remained lower

to 1000.

(iv) General gender ratio in rural areas of all
districts (except Pali) remained lower to
1000.

Code -

(A) i, ii, iv (B) i, ii, iii, iv

(C) i, iii, iv (D) i, ii, iii

Which of the following pairs is incorrect?

(A) Namda — Jodhpur (B) Baadla — Jaipur

(C) Masuriya Saree — (D) Marble carving -
Kota Tonk

Where s Cave
Rajasthan?

(A) Jaipur (B) Mount Abu

(C) Jhalawar (D) Tonk

Which of the following (Cattle fair and Place) is
not correctly matched?

(A) Mallinath Cattle Fair — Tilwara

(B) Veer Tejaji Cattle Fair — Parbatsar
(C) Jaswant Cattle Fair — Karauli
(D) Gomati Sagar Cattle Fair — Jhalawar

Gopichand located in

T

Which of following is known as ‘Tajmahal of

Marwar’?
(A) Jagmandir Palace (B) Lalgarh Palace

(C) Jaswant Thada (D) Bada Bagh
The dialect spoken in Dungarpur and Banswara
area is known as -
(A) Wagdi
(C) Marwari
Choose the correct
heights of the following mountains —
(A) sSer Peak, Achalgarh, Khoh, Taragarh
(B) Taragarh, Khoh, Achalgél:h, Ser Peak
(€) Khoh, Achalgarh, Ser Peak, Taragarh
(D)_:A'ch’algarh{ Khoh, Taragarh, Ser Peak

(B) Malwi
(D) Mewari

descending order of

88.

89.

90.

a1.

92.

93.

94,

JroreenE # 201

o1 SOl B IR
aruUTd B Hey
e 7 8?
faimTrUTe 1000 9 T

;f%?ﬁaﬁa*

bigs 71 P

000 go§I
fjlﬁ:rf—?a‘gﬁgﬁ LNl Eoml
(i) TR foren ¥ T

ey fRATIAT TS &

¥ (&g BT BISHI) T IEY
STl 1000 ¥ ®HH &7 | |
Ble®R) D TP &Y

RaT |
(if) ToTRRIT W
T |
(iiiy = forer _
er= & e T
(iv) Y foreit # (@reh BT

N s e *1gurd 1000 [ HH IET |
JZ\C: P .
(A) i, ii, iv ¢B) i, ii, iii, iv
(©) i, iii, iv (D) i, ii, iii
frfarfaa § @ SV, AT SiTST e &7
(A) FHET — SIEIgR (B) |racll - 'Cx({zrg'\v

= D [ I

(© W TS (D) ﬂﬂm‘mﬁ?ﬁ e
<roteerr § MdrEE et wei Rerd 27
OA). g (B) HTaT o7,
(C) sTaTS (D) =t

Fr=farfRaa & 1 19 A1 (T 3R =2A19T) T8
wHfera ==t 87

(A) wfeer=rer geier — fArerarsT

(B) IR ASITSH UPHAT — grRaawiw

(C) STHa 9] — Bt

(D) MAFEANR 93T — sTETaTS

1;1:’ " ¥ RS HRATe @1 aorEed’ wEr S

(A) SEHfer 7aee (B) srerite Wed

(C) SrHEd erer (D) g1 977

FTYIR U ai9aret & § &l i arel |re
(A) arrsy (B) HTaAdYy

(C) ARarsy (D) Harsy

Fr=fofaa adar %
gy

‘A’@"’%-Wﬁ.@am
® avmTE, wie, srerTg, Wk G
© @re, smerrg, W) G, e
(D)m'@?-m,ﬁv%

13
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HargAl BT wE sraeE) |




?5.

97.

29.

100.

(&) N.v. Gadgil

Manjira, Tanpura

Instruments are useq ;
> "

Chayt
dances?

arg
\Nh‘Ch

P Music
of the ¢ cal

(A) Gavari Dance Oﬂowmg-}

(B) v
{C) walar Dance ¢ 1E‘l'ahtaﬁ Dance
Wh|§h one of the folioy, Ghoomay Dance
to jail in the fre 'Ne wo

(A) Kali Bai
(©) Narayani Devi

man A:
edom Stfugg!e? an did not g0

B
The row of seven fire alta Jana Devyij
found at - o

(A) Kalibanga

(C) Ahar
Between whom
(1665 AD) signed?
(A) Shivaji — Bhagwant Das

(B) Shivaji — Raja Mansingh

(C) shivaji — Mirza Raja Jaisingh

(D) Shivaji — Sawai Jaisingh

Which one of the following (Lok Devi — Place) is
not matched correctly?

{A) Shila devi —Amer

(B) Aai mata— Osian

(C) Shitala mata — Chaksu

(D) Dadhimati mata — Goth Manglod

On 30™ March 1949, greater Rajasthan was
inaugurated by -

l(:) Sgardar vallabh Bhai (B) V.P. Menon

. _patel

s (Vedika) has been

(B) Bairath
(D) Ganeshwat

the Treaty of Purandar

(D) Jawahar lal Nehru

14

95,

Hu{ TN AT A1 arel AEY T W

seiifaRaa a1 A R swar @
(A) g ™ (B) SreEaren e
(C) araiY 5[ (D) AR o

96. Tl WuTH @ A fyrefafiaa A & B
Ao ot A8 g7
(A) wreh 418 (B) el :!||+;§‘1
(C) Ao ad) (D) afrHT ad

97. wa miftw Afxeral @ dfaa AT g & —
(A) HTeATETT A (B) AT N
(C) args W (D) Trorga A

98.

qrear an wf¥ (1665 AD) farwen W BE o
(A) Brarehl — wrdaaT
(B) fRrarsfi — ot ATARE
(©) Rrarh — fastt won srafiE
(D) frarch — warg At
99. frefaiftaa o & @ I (Al — wIE)
wafera el &7 L
(A) feram &t — PR
(B) ang wrar — S ér%_
(C) Meretr HIEr — AT ;
(D) afiepfa war — TS HTeE e
100. 30 wrd 1949 @ gEQ IroTeEIT™ Wl IgEned
o= fpan?
(A) ExER deay Wig  (8) A L G B
geat ;
(€) wa. . s

(D) STaTER ol AgH




